20144 FIHA 2014%584H(H) 6KF00% ~ T7EF30%> (1I§RE30%) EHRANEA - FBLSY — 78

TEAM 1 2 3 4 5 6 7 8 9 10 11 12 13 R H E
B ZaA—LZ 0 2 0 3 2 0 0 7 5 2
held MrAe s /¢ — 2 1 0 0 0 0 0 0 1 2 2
[ MvPETH) | FBEA— EEI
[ #21 | - |
[ WWPEEH | %aEs  3EE |
[ BBE | =aeEm  1BOK |  ®—7 | =@k 1S | A—rF | = | | | |
BT Ea B 11 | FEEeA 61
HERT &6 ERF 1-1
£¥: RaA—-LX
1TIE X 1 2 3 4 5 6 7 8 9 10 11 12 13 14 HEEREIEEEIEE
1 FEA— | =R RR (2) =z ) B 47 2 301 2 200
2 UNEIE -7 | TR [z Pa3R o 1 3 1 213
3 FERK | = =3n ®Im =Eil] 4 280
4 #ZH 18 ER &R FEBK =ik 3 1 1 .000
5 AN RE R =ik oo 3 1 .200
6 FH et LTS 11 154
7 RH RE Pa3R =ik Pa3R o 2 1 2 2 133
8 =E B FEBK ey BB (D 1] 1 1 1 1 353
9 BH KfE BET =iR &S 2 1 273
10 LAk 528 HmIn £2 (1) =R 301 11 250
11 WHRE FEER =5 s 2 235
TOTAL[26 | 5 5 6 5 6 2 .193
B MrRy /=X
I AFTE £A 1 2 3 4 5 6 7 8 9 10 11 12 13 14 BHE T R AR M & HEER
1 EiTE B& i gmyl e = B ()
2 BTE | R s i 5 182 |1 1 193
3 HiTE BT —R R Fel3z X (s)
4 B%E  |#ETR (1) ER R 2 e | | 150
5 aiTE &0 AR =
6 BITH =R A R L]
7 EiTE AR —an
8 HiTH BmIn =i T T T T
9 aiE =ik R
[ [ [T T[]
S— [ [ [T T[]
7 242 |1 1] 183




